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sin(a 4+ B) = sina.cos B + cos asin j3,
A ga e cos(a + ) = cosacos B — sinasin 3
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D AABD = %AB - ADsin(a + )
_ sin(a+ B)
2cosacosf3
A< —C 5,
AABD = AABC + AACD
B = S(tana +tan ).
AC =1. sin(a + f)

= tana + tan f3,
cos a.cos 3

sin(a + ) = cosarcos B(tan o + tan ) = sin acos 3 + cos asin 5.

=IO IEEEL, AT £ 7 (2)



cos D INEEH D EEHH

RILEM A WD (REB O I INEER % N2 .

D BD? = AB? + AD? — 2AB - AD cos(a + 3)
1 1 2cos(a+p)
"~ cos2a  cos2f3  cosacosf

A ° & "C —ﬁy
BD? = (BC 4 CD)?
= (tana + tan )?

B 2 2
= tan“a +tan“ f 4+ 2tanatan g
_ 1 1
AC=1. =— 4+ —— —242tanatanB.
cos2a  cos?f3
2M:2—2tanatanﬁ,
Cos ax cos 3

cos(a + ) = cosacos 3 — sinasin 3.

=IO IEEEL, AT £ 7 (2)



